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<<l{(IbP-q2-q<UqaP-18/44>> 0ur0l,Iuqpn{ qtruh2rlub hrupgdwL ptrptugtuLlupqlt

qbuhrumn4 hurtrdbudn4n{f fu ftuu Jt

p. bqtlrun+ <<7 >> hn{mbdpbp 20t8p'

durlp 15@

UuutrruIgnrpJudP'

(uLdL u.r dn r1n r{fr L u fu ur qur h' lr. (u pn rp1 n rtrl utr (q'n/qUq)
(uLdtrudnrln{fr tutr4urlLbp' (. 2ruprupluL (aA/aU)

U. Up2ru[ub (q'n/qU)
U. trfrptu[nulutr ($al/FU)
Q. tutultupluL (QO/PU)

(urtrdUudnrln{fr pur prnn rrlu p''t. 4[tptup; utr

1. <<t{UbP-q2-q<UqAP-18/44>> 0u6l4uqpn{ qtrub2tlut htupgtlub ptrprugrul4tupqlr qtruhrurnn4

hrutr6tudnrln{p tupdrutruqpbg, np putrullgnrplnrtLbnh hntu{hnr[uO n1 rlfr durubutfhg fh trbp[u1ugb1'

hr.uhitr udn4nt[p np n2bg.

1.1 'tbl1u{uptlbln{ "!trLnttftrhpfr rlurufrh" 12 ophhp]r 37-p.t hnat[urbfr l-frh tftuufr l-[rh \hr'n[r <<l{UbP-

q2-c+<U'nAp-18/44>> 6u6l4tuqpn{ qtrutr2rltutr hupgrlub ptrprugruQunqn N5, N6 h N9

1u rfr u pudtrtrtr bp Jr rlu u n t[ h tu.; m ru p tu p b 1 1l'1 rultu g ruO:

2. <<q[bp-q2-q<UtnAP-18/44>> burb\ruqrn{ qtnuh2rtrutr hurpgrfiuh phprugru\rupq}r 2p2rutrur$rhpnui

N1,2,3,4,7 h 8 2urlrurpurdlrhtrtplr riruuntl urnur2]rh h hur2nprlurprup rnhqtp qprqhgprub riuruhru!]rgtrhp[r riuru[rtr:

2.1 Uruuhru\hslrhnh qpurrlhgpurb urhrlhpfr tlurufrh rnr[urltrhpp trhp\rulurgrlrub hh uurnptr'

Uuutru\[rgttpfr
qpu4tgpub uhqtpp

Uuuhu\glr ub!ulrnLrIp

Uuutru\gf \nr$hg unu2up\{ub gtrulfrh unu2up\g (ZZ qpuJ), gh4 npnrtl

tlpdtpp ([rtrpLupdtpf tr

\ut |uu u L u rlnrl 2u hnqpft

huhpuclnt dupp)

uuz t!r1hu!nt p qftp

Qurr.,hupudlrL 1 Uurhdur\ur1 /tp\hurp\tuLf/

,l <<Ubl.JUiJg>> UrnC 950 000 190 000 1 140 000

2 <<$nmnL>> U0C 1 199 950 239 990 1 439 940

3 <<.Lutrqb!np>> UalC 1 935 000 1 93s 000

4
l.J/O fu tupr Lnplurtr UL4puU[11

UpubLfr
2 100 000 2100 000

Qru{r u pudfrb 2 epurqurhu:purh

1 <<ubtjuLq>> uatc 56 500 11 300 67 800

2 <<ulurtr4bllnp>> UalC 69 800 69 800



3 <<$nLnnL>> UrlC 59 606, 67 11 921,33 71 582

4
U/0 fu u1u rnplurtr Utr4pruLfrtl

UpubUfr
130 000 130 000

Q tu rfr ru p u d[r tr 3 Uqruupruqurhruprutr

1 <<ubuuLq>> u.lc 65 000 13 000 78 000

2 <<$ntnnL>> UrlC 66 663,33 13 332, 67 79 996

3 <<rluuLrlb[1np>> UalC 87 700 87 700

4
tJ/t fu rulu Lnplurtr UtrrppruLfrll

UpubLfr
90 000 90 000

Qu rrh tu p rudJrtr 4 tururlurfrplr qruhruputr

1 <<ubLJuLq>> uqn 64 000 12 800 76 800

2 <<$nr-nnL>> UrlC 66 663,33 13 332 67 79 996

3 <<.lurL4bL1nn>> UrqC 87 700 87 700

4
u/t fu ulur Lnpprtr Utr4pruLfrQ

UpubLfr
90 000 90 000

? u {r ru p ur d [r L 7 Uurh\ur\urh ublurh /nqr1urhfu mL/

1 <<ubuuLq>> urnc 52 500 10 500 63 000

2 <<$nr"nnL>> UrlC 77 483,33 15 496,67 92 980

3 <<uluutrrph!nn>> UqC 170 000 170 000

4 U/t tuulr.urnp.luutr U4pu.rLfr! UpubLfr 230 000 230 000

Qu{r rupudfrtr 8 Ot'unrg2fr uhrltutr

1 <<ubtjuLq>> urqc 40 000 8 000 48 000

2 <<Snr-nnL>> UrlC 40 496,67 B 099,33 48 596

3
U/t fu ulur unpl ruti Utr 4purtr[11

UpubtrJr
70 000 70 000

4 <<.lutr4b!nn>> UqC 83 000 83 000

3. Qhurhunnn4 hurtrd,hrudnqnrllr pruptnrrqurph \"{rthg \rutnurprlhfirp qnpbnrlntplmtrtrhp[r rturu[rtr

3.1 Qhnr-ttrhpfr rturufrtr ll ophhu4pntp3rutr qruhrutr2hhpfrtr hruiluqururruu[uruh

ur) Zur3ruuuurhlr Zruhpurqhurnr-p1tuh \urnrur.lurpntpSruhh runptrphp qhurru\urh h\rurfnturtrhpfr \nilfruh
hurpgntil trbp\urlughh1 urnru2|rh rnhrl qpurqhgptub ilurutrur\frgLhph' hurjurp hhp\urlugtrhlnr op{ru 4pnrplunlp

hrup\ru1frh tftuprlhfr \"qrlhg {hpruhu\rlnr1 h\rurfnunhbpfr qbnq drurf\hrnuhg qurpulurlnpnrplnrtrtrhpfr, frtr2qhu



lrurb hprutlhnh ..Shhtuhuur\tuh tffr2nghhp>> npur\ur{npdruh 2rur}rruh[r2[r qtrruhururiruh hurtiurp uurhriruhrlrub

qu3rlurhhhpfr urn\urlntplurli tlhpuphplutl.

p) Oruhnrghl urnru2[h urh4h qpturlhgpub rftuuhru\frghhpfrL' runur2rup\h1nr[ hphp ur2]urutnurtrpur3frtr op{u

phprugpnrtf h1h\urpnhur3frh rlrnuufr il|r2ngnr{ trbp\urlurghhl hprurihpfr qtrruh2rftutr hrupgriurh hurrnp qunnpurur.nhlnr-

hpruhuLqfr hpn.nq ptudLnr{ hur}utuurhutlurb r'fruruururfdrydhpp.

q) 3,1 \h-h p) htrpur\hurnrl Lurluruurhurlurb drurf\hurfr rutlupurfrh hur2np4nq tu2]uurtnruhpurlfrh optr

L1h\,rpnhurlfrh hrlurhru\nr{ htuh&hurdnrlnrfir urhrpurtLrhpfrtr rffnuduniurtlu\ urprutiurrlphl urnru2frh urhrlh qprurlhgpub

iluruhru\|rgtrhpfr \nrltilrg trhp\upug{rub r}luuunufaryahnh qruurdhtrtrhpp, qhurhururiurh phppfr\hhpfr hp\nrur\tuh

opfrhur\ [r Zurluruururhfr |urhpruulhurntp3urh \urnrurlurpntplurtrh urnghphp qhururllurtr h\urilnlurhhpfr \ntihuhhg

uurug{rub hqpru\urgnrp3nthP :

Ctranthrfu t npn2nuf' I{rttri-5, rlhri-0:

(rutr 6tr udn rln rlh tr u [u uqtu h' tr. (urpnrplnrtr;tutr

(tutr 6tr ru dn qn {h rutr 4ru iltr b p' (. 2uptupltutt

L. Llp2ufiutt

U. trfrpu[nu;utt

cI. furu1up;utt

(utrhtrudnr1n{h ptunm n tl1uFl .1. {.Jtpuplutr

(uqnpwqpnrylnLbp)

(uqnpwqpnplnLbp)

(uqnpwqpnplnit

(uqnpwqpnLplnLb,


